Mean Spectrum

Continuum Lightcurve

Ac %

rm897 BLR 3000 MK 960 W: rm897 cs
T T T T T T T T T
o . i I~
[7e)
, , o~ E
— ~o[ T
“ | . o Lo
TQ , i T o
n <+ ] 1
b ' b
E s . £
(3] (3]
o ' ' [ =T T I o
[} ' ' (1)
e & - § N
o | g o) ]
= | . AVG = 0
- : e 7
\ cont o~ S
o 2 e e H or +
Al ! . BLR '
J_[l 1 1.1 II|||I||||II|||I||||III||I||||IIIIIImIIIIIIIIIIIIIIIII ] n 3|590||8 1 n 4'|677|A 1 n suogauA 1 n 7|938|§ 1 |1°?4’°-|& |_I
4000 5000 6000 8000 10060 7000 7500 8000 8500 9000
A R) MJD — 2450000
RMS Spectrum BLR Lightcurve
rm597_ i ]ELR' .j.g?uo NLR 800 km/s rm897
T T T T T T T T T
"
e
T~ 8 r T
‘I‘VJ
E
(3]
ox
9 |
5 o
B il 1y
e o
Z raw = F 4
“_v<
o ' '
: : 4 RMsx
||I||||I|||II|||III|||II|||III||I||||IIIIIImIIIIIIIIIIIIIIIII ] " 1 " " 1 " " 1 " " 1 " " 14
4000 5000 6000 8000 10060 7000 7500 8000 8500 9000
A @) MJD — 2450000
x(\t) = ( Data — Model A ) /o x Corrections
X/ (408955—5077)=2.975=>1.008 ) rm897
A bbb e e [ o e
| i MMMMWWWN i
o B
©
o~
~ [ i
T -
E
3
= —
E o ‘_. - -
3 O !
Es ot kg
[$]
(']
2 -
n 1
o e
N o~
)
R : ]
L " (22 PR P T B M| N f
4000 5000 6000 8000 10060, e 7000 7500 8000 8500 9000
bad:2100=0.51% A (&) e MJD — 2450000
u = —0.063(23) x = 1.370(109) => 1.370(109) u = —0.10(61) x = 1.044(119) => 1.044(119)
rm897 med(mad) rm897 med(mad) A
IIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIIIIIII T T T T T T T T T T T T T T T T T T T T T T T
~ F i
>< M
— P - -
Ell I 4
L
I
bl 23t st L L 2 ik 2 s ke M ) -4 N T
'ﬂmmmmww'dwrmmm i Hﬁ:ﬂ / ! y ’ |_1 l r
n 1 n n n n n " 1 1

5000

6000
A ()

8000

9099, 5.00
2<-8.00

. . A -
7500 8000
MJD — 2450000



